Shuffled Sentences 5

Put these sentences in the correct order so
that they make sense.

1. path boy down the ran the

2. trees whistled through the wind the

3. size the armies two equal of were

4. the owner their to dogs along walked two the with park

5. paper was table covered the with

6. lamp day Peter on left the all

7. ducks of one managed escape to the fox the

8. ostrich in an the heaviest world bird the is

9. cross her made Jane mother bed didn't she make because her

10. hard children really the play worked outside then and allowed were to
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Shuffled Sentences 5
ANSWERS

The boy ran down the path

The wind whistled through the wind

The two armies were of equal size.

The owner walked along with their two dogs to the park.
The table was covered with paper.

Peter left the lamp on all day.

One of the ducks managed to escape the fox.

An ostrich is the heaviest bird in the world.

W o NOUAEWNE

Jane made her mother cross because she didn’t make her bed.
10. The children worked really hard and then were allowed to play outside.
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